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1. Ego operates based on this principle  
 1. Morality 
 2. Reality 
 3. Pleasure 
 4. Pain 

 ‘ΧúΚô’ ΒϕΘ ΘιÕΞιƒτ ≅⁄κΣûΟ♠ο 
ùΜΥοΣÓ€[Õ  

 1. ΙÝχΚ ùΡ° 

 2. ∆ηûΤ ♣ûΩ 

 3. ΒτΣλ 

 4. Ξ← 

 

2. The ability of an individual to act purposefully, to think 
rationally and to deal effectively with the environment is  

 1. Interest 
 2. Attitude 
 3. Intelligence 
 4. Aptitude 

 »» úΡôχΚ ≅⁄κΣûΟ♠ο ùΜΥοΣΟ+ ΣÏιΘ°ÜΟτ 
′ϕƒκΣΘσÏ Θτû∴ε Ñσ° ∆ρΖ Ñσßκ×[ιÕΟτ 
ΣΥàρΖ ΞûΚ♠ο ΣδÏ ùΣ[ ΙÚ ΡΣÚχÏ 
úΘûΞΥô∴ ƒ[τµµ 

 1. ΑνΞλ 

 2. Τ∴κΣôτûΤ 

 3. ÖηΠ°Ü 

 4. ΡôγΟλ 



3. The early childhood stage is regarded as the age of  
 1. Exploratory 
 2. Gang age 
 3. Imitation 
 4. Fantasy 
 Øτ ÏΨϕûΘκ ΣÚΞ ♣ûΩûΥ ΒπΞôßλ 

≅ûΨκΣν 

 1. úΘΟο ΞΥÕ 

 2. ÏλΣ←ο úΜÚλ ΞΥÕ 

 3. úΣôΩε ùΜµΘο ΞΥÕ 

 4. ΣΚσΚ∴Ü ΚôÔλ ΞΥÕ 

 

 

4. Which of the following individual is a proponent of heredity as 
the exclusive factor influencing growth and development 

 1. Watson 
 2. Freeman 
 3. Bagley 
 4. Galton 
 •θχΚηΟΞσ°ο+ ΞΖνε′ Τσßλ Øτú∴σ[ιƒο 

Τς×♣ûΩΥô∴Õ ØΘτûΤΥô∴ Κôς∞ΥôÏλ Φ∴χ 
á°ΥΞν 

 1. ΞôγΜτ 

 2. κÃΤτ 

 3. ΣôχúΩ 

 4. ΚôοΟτ 

 

 



5. Bharathi wants to do Engineering, but she is afraid of failure. 
This type of conflict is 

 1. Approach - Approach 
 2. Approach - Avoidance 
 3. Avoidance - Avoidance 
 4. Double Approach - Avoidance 
 Σôςƒ ΦτΣΞρ ùΣô°♠Υο Σ⁄χΚ ↑Úλ♦∴ôρ− 

Α∴ôο Θôτ úΘνε′ ùΣ[ ΤôγúΟτ Φ∴ ΣΥϕΘôρ− 
ΒπΞûΚΥô∴ Τ∴úΣôςôγΟλ 

 1. ≅ÔÏΘο ` ≅ÔÏΘο 

 2. ≅ÔÏΘο ` ↑ΩÏΘο 

 3. ↑ΩÏΘο ` ↑ΩÏΘο 

 4. ΒςγûΟ ≅ÔÏΘο ` ↑ΩÏΘο 

 

 

6. ‘Object permanence’ formed in this stage 
 1. Sensory motor stage 
 2. Pre operational stage 
 3. Concrete operational stage 
 4. Formal operational stage 

 »ùΣôÚ↓τ ♣ûΩιΘτûΤµ Βϕ♣ûΩ♠ο ΓσΣÓ€[Õ 

 1. ×Ωτ ΒΥχΚ ♣ûΩ 

 2. ùΜΥοΣôγÓχÏ ØϕûΘΥ ♣ûΩ 

 3. ΣÚκùΣôÚρ ♣ûΩ 

 4. ΚÚιƒΥο ♣ûΩ 

 
 
 
 



7. According to Erikson the following stage of psycho-social 
developmental crisis found at the age of 12 to 20 years 

 1. Autonomy Vs Doubt 
 2. Initiative  Vs  Guilt 
 3. Identity  Vs  Role Confusion 
 4. Industry  Vs Inferiority 

 Φ↔χΜ±τ áσßκΣ⁄+ 12 ØΘο 20 ΞΥÕ Ξûς 
×ΩκΣÓλ ΞΖνε′ ùΡÚχΚ⁄ 

 1. ÑΘϕƒςΤôΚ ΒΥδÏΘο ` ΜϕúΘΚλ 

 2. Θτ ØΥσ′ ` Ïσ[ ∆ΠνÜ 

 3. Θτû∴κ Σσ° ≅ûΟΥôΖλ ΚôÔΘο `  

  Θτû∴κ Σσ°Υ ÏΨκΣΤô∴ ΚÚιÕ 

 4. Κ⁄∴ ∆ûΨκ× ` ΘôθÜΠνÜ 

 

 

8. Correct statement with regard to development 
 1. Quantitative 
 2. Changes are based on heridity 
 3. Related to physical changes 
 4. Comprehensive & wider 
 Øτú∴σ[ιÕΟτ ùΘôΟν×ûΟΥ Μ↔Υô∴ áσß 

 1. ≅ΖÜûΟΥÕ 

 2. Τôσ[δΚρ+ Τς×♣ûΩ ≅⁄κΣûΟ♠Ωô∴Õ 

 3. ∆Οο Τôσ[δΚÞΟτ ùΘôΟν×ûΟΥÕ 

 4. ØÝûΤΥô∴Õ Τσßλ ΣςϕÕ ↑↔ϕΘÕ 

 

 

 



9. One of the following is not a Projective Test 
 1. Ink blot Test 
 2. Thematic Apperception Test 
 3. Children’s Apperception Test 
 4. Bhatia Battery 
 •θχΚηΟΞσ°ο ×[ιúΘσß úΜôΘû∴ ≅οΩôΘÕ 

 1. ûΤιΘΟ úΜôΘû∴ 

 2. ùΣôÚρ ΒûΠιΘ° úΜôΘû∴ 

 3. ′ßΞνΚÞχΚô∴ ♣Κθε′ ΣΟ↑ΖχΚ úΜôΘû∴ 

 4. Σôγ⁄Υô úΣγΟ↔ 

 
 
10. ‘Chatter Box’ stage of child’s development 
 1. Infancy 
 2. Early childhood 
 3. Late childhood 
 4. Adolescence 

 ÏΨϕûΘ♠τ ΞΖνε′♠ο ∋Øτú∴σ[ιƒο( 
»ΞôΥ⁄ιΘοµ ♣ûΩ 

 1. ÏΨ↑κΣÚΞλ 

 2. Øτ♦ρûΖκΣÚΞλ 

 3. ♦τ♦ρûΖκΣÚΞλ 

 4. ÏΤςκΣÚΞλ 

 

 
 
 
 



11. Base for the proverb “We can lead a horse to the water but we  
cannot make it drink” is 

 1. Law of  Readiness 
 2. Law of  Effect 
 3. Law of  Excercise 
 4. Law of  Continuity 

 »ÏƒûςûΥ ¿ÚχÏ ≅Ú€ο ≅ûΨιÕ ùΜοΩ 
Ø⁄Ùλ+ Α∴ôο ¿ûς Ï⁄χΚ ûΞχΚ Ø⁄ΥôÕµ  

Φàλ ΣΨùΤô→χÏ ≅⁄κΣûΟ 

 1. ΑΥιΘ ↑ƒ 

 2. ↑ûΖÜ ↑ƒ 

 3. Σ♠σ′ ↑ƒ 

 4. ùΘôΟνε′ ↑ƒ 

 

 

 

12. Learning is 
 1. Simple and Goal oriented 
 2. Simple and Universal 
 3. Complex and Inactive 
 4. Complex and Active 
 Κσ[ο ΦτΣÕ 

 1. Φ↓Υ Τσßλ úΡôχΚ ≅⁄κΣûΟ♠Ωô∴Õ 

 2. Φ↓Υ Τσßλ ØÝ♣û[Ξô∴Õ 

 3. ′χΚΩô∴Õ Τσßλ ùΜΥοƒ[τ ♥χΚÕ 

 4. ′χΚΩô∴Õ Τσßλ ùΜΥοƒ[τ ♥χΚÕ 

 

 



13. The person who feels lying is bad, won’t lie. This kind of 
motivation is 

 1. Intrinsic Motivation 
 2. Achievement  Motivation 
 3. Extrinsic Motivation 
 4. Artificial  Motivation 
 ùΣôµ áßΞÕ ΘΞß Φ∴ ♣û∴χÏλ ΙÚ ΡΣν+ 

ùΣôµ á[ôΤο ΒÚκΣÕ ΦτΣÕΟτ ùΘôΟν×ûΟΥ 
ΕχΚλ 

 1. ∆ρΖôνϕΘ ΕχΚλ 

 2. ≅ûΟÜ ΕχΚλ 

 3. ùΞ↓ ΕχΚλ 

 4. ùΜΥσûΚ ΕχΚλ 

 

14. The concepts of Latitudes and Longitudes are the examples of 
these concepts 

 a) Simple b) concrete c) abstract d) complex 
 1. a  &  b 
 2. a  &  c 
 3. b  &  d 
 4. c  &  d 
 ≅γΜúςûΚΚρ Τσßλ ¾νχΚ úςûΚΚρ ΦτΣûΞ 

ΒκΣôΟχ ΚÚιÕΚÞχÏ ΦÓιÕχΚôγÓΚΖôÏλ 

 a) Φ↓Υ b) Κôγ′ ♣ûΩ c) ΚÚιƒΥο ♣ûΩ 

 d) ′χΚΩô∴ 

 1. a  Τσßλ  b 

 2. a  Τσßλ   c 

 3. b  Τσßλ   d  

 4. c  Τσßλ   d  

 



15. This theory states that similarity of contents or similarity of 
methods promotes transfer of learning 

 1. Theory of  formal discipline 
 2. Theory of  Identical elements 
 3. Theory of  Transposition 
 4. Theory of  Ideals 

 ΣôΟκ ùΣôÚρΚ↓τ ΒûΟ♠úΩô ≅οΩÕ 
Øû[Κ↓τ ΒûΟ♠úΩô ∆ρΖ ΙιΘ 
ΘτûΤΚ↓∴ôο Κσ[ο Τôσ[λ ΡûΟùΣß€[Õ 
ΦτΣÕ ΒχùΚôρûΚÙΟτ ùΘôΟν×ûΟΥÕ 

 1. Øû[Υô∴ ΙÝχΚ ùΚôρûΚ 

 2. ΙιΘáß úΚôγΣôÓ 

 3. ΒΟΤôσ[ úΚôγΣôÓ 

 4. Ï°χúΚôρ úΚôγΣôÓ 

 

 

16. Termination of the unconditional stimulus after conditioning 
leads to 

 1. Reinforcement 
 2. Spontaneous recovery 
 3. Extinction 
 4. Generalization 

 ΑχΚ♣ûΩ♠ßιΘλ ΓσΣγΟ ♦[Ï+ ♣ΣϕΘû∴Υσ[ 
çηΟο ùΚôÓκΣûΘ ♣ßιƒ∴ôο ≅Õ ΒΘσÏ 
Ξ→ΞÏχÏλ 

 1. ΞÛîγΟο 

 2. ΒΥο×♣ûΩ ÁρÜ 

 3. ≅→ϕÕκ úΣôΘο 

 4. ùΣôÕûΤκΣÓιÕΘο 

 



17. The psychologist who first described the figure – ground 
relationship 

 1. Edgar Rubin 
 2. C.L. Morgan 
 3. Richard 
 4. Jerome Bruner 

 ∆ÚΞλ ` ♦τ∴± ùΘôΟνûΣ ØΘτ ØΘΩôΚ 
↑Ζχ€Υ ∆Ζ↑ΥΩôΖν 

 1. ΦγΚν ì♦τ 

 2. C.L. úΤôνΚτ 

 3. ↔εΜνγ 

 4. ù⊥úςôλ ×ì∴ν 

 
18. Symbols formed in the brain during the memory process 
 1. Neurograms 
 2. Neuro muscular grams 
 3. Polysomno grams 
 4. Neuro imaging grams 
 ♣û∴Ξôσ[ο ùΜΥοØû[♠ο êûΖ♠ο ΓσΣÓλ 

Ï°ÂÓΚρ 

 1. ♣ëúςô€ςôλυ 

 2. ♣ëúςô ΤυÏΩν €ςôλυ 

 3. Σô←úΜôλú∴ô €ςôλυ 

 4. ♣ëúςô ΒúΤ≥δ €ςôλυ 

 

 

 

 



19. Type of learning involves in learning ‘State and Capitals’ 
 1. Rules learning 
 2. Generalization learning 
 3. Procedural learning 
 4. Factual learning 

 »Τô♣ΩδΚρ ` ΘûΩΡΚςδΚρµ Φàλ ΚÚιûΘ 
Κσ[ÛΟτ ùΘôΟν×ûΟΥ Κσ[ο ΞûΚ 

 1. ♣ΣϕΘû∴ΚûΖ Κσ[ο 

 2. ùΣôÕûΤκΣÓιΘο Κσ[ο 

 3. ùΜΥοØû[ Κσ[ο 

 4. ùΤµûΤ Κσ[ο 

 

 

20. One of the following does not belong to affective domain 
 1. Responding 
 2. Valuing 
 3. Understanding 
 4. Characterization 
 •θχΚηΟΞσ°ο Ιτß ∆Πνε′ Μôν ΚΖιÕΟτ 

ùΘôΟν♦οΩôΘÕ 

 1. ÕΩδΚο 

 2. ΤƒκΣ↓ιΘο 

 3. ×↔ϕÕχùΚôρÞΘο 

 4. ΣηΣôΘο 

 
 
 
 



21. The author of the book ‘Home – Schooling’ 
 1. Gijubai 
 2. John Holt 
 3. Makerenko 
 4. Paulo Freire 

 ‘Home – Schooling’ Φàλ ×ιΘΚιûΘ ΦÝƒΥΞν 

 1. €⊥øΣôµ 

 2. ⊥ôτ ôογ 

 3. ùΤΚςδúΚô 

 4. ΣôúΩô ♦ûς↔ 

 
 
 
22. “An infant boy’s recognition of his mother among other family 

members.” This learning belongs to 
 1. Verbal Learning 
 2. Perceptual Learning 
 3. Conceptual Learning 
 4. Discrimination Learning 

 »» ÏΨ↑κ ΣÚΞιƒο ∆ρΖ ′ßΞτ ΘτàûΟΥ 
ÏÓλΣ ∆ßκ♦∴νΚ↓ο Θ∴Õ ΘôûΥ ≅ûΟΥôΖλ 
ΚôÔΘοµµ ΦτΣÕ 

 1. ùΜôσΚσ[ο 

 2. ∆µιÕΠν Κσ[ο 

 3. ΚÚιƒΥο Κσ[ο 

 4. ♦↔ιÕΠν Κσ[ο 

  
 
 



23. The Prime Minister of India, who launched the ‘Digital India’ 
programme 

 1. Manmohan Singh 
 2. Vajpayee 
 3. Narendra Modi 
 4. Indira Gandhi 

 »⁄≥γΟο ΒϕƒΥôµ ƒγΟιûΘ ùΘôΟδ€ ûΞιΘ 
ΒϕƒΥκ ♦ςΘΤν 

 1. ΤτúΤôΚτ ′δ 

 2. ΞôϖΣôµ 

 3. Ρúςϕƒς úΤô⁄ 

 4. Βϕƒςô Κôϕƒ 

  

 

24. One of the following is not an abstract concept 
 1. Justice 
 2. Honesty 
 3. Second 
 4. Green colour 
 •θχΚηΟΞσ°ο ΚÚιƒΥο ΚÚιÕ ≅οΩôΘ Ιτß 

 1. ¿ƒ 

 2. úΡνûΤ 

 3. ↑∴ô⁄ 

 4. ΣεûΜ ♣[λ 

 
 
 
 
 



25. One of the following belongs to first generation computers 
 •θχΚηΟΞσ°ο ØΘο ΘûΩØû[ Κ∞± 

 1. EDVAL 
 2. CDC 1604 
 3. IBM 1401 
 4. IBM 1620 
 
 
 

26. 1 PB = 

 1 ùΣΟô ûΣγ R  

 1. 1024 GB 
 2. 1024 TB 
 3. 1024 ZB 
 4. 1024 EB 
 
 
 
27. Year of launch of ‘VSNL’ services in India 

 ΒϕƒΥô↑ο VSNL úΜûΞΚρ ùΘôΟδΚκΣγΟ ΑηÓ 

 1. 1990 
 2. 2000 
 3. 1995 
 4. 1984 
 
 
 
 
 
 



28. The term ‘MOOC’ stands for 
 ‘MOOC’ τ ↑↔ΞôχΚλ 

 1. Massive Open Online Courses 
 2. Mass Online Open Courses 
 3. Mass Online Oriented Courses 
 4. Massive Online Opening Courses 

 

29. As per RTE - 2009, the number of teachers in a school of  
40 strength is 

 Κο↑ ∆↔ûΤεΜγΟλ ` 2009 τ Σ⁄+ Σρ↓Κ↓ο 40 

 ΤôΠΞνΚÞχΚô∴ Α′↔ΥνΚ↓τ Φη∞χûΚ 

 1. 1 
 2. 2 
 3. 3 
 4. 4 

 

30. As per NEP - 2020, the first 5 years of schooling is known as 
 1. Foundational 
 2. Preparatory 
 3. Middle 
 4. Primary 
 NEP ` 2020 τ Σ⁄+ 5 ΑηÓΚρ Κο↑ûΥ ΒπΞôß 

≅ûΨκΣν 

 1. ≅⁄ιΘΖ ♣ûΩ 

 2. ΘΥôν ♣ûΩ 

 3. ΡÓ ♣ûΩ 

 4. ΑςλΣ ♣ûΩ 

 



 

31. •θχΚôÔλ ΣôΟûΩ Σ⁄ιÕ+ ↑∴ô↑σÏ ↑ûΟΥ↓− 

  Ση∞Υ ΣôΞ ùΤοΩôλ 

    Σ↔ƒØτ Σ±úΥ úΣôΩ 

 úΤσΚôÔλ ΣôΟ←ο ‘ΚƒςΞτ’ Φàλ ùΣôÚρ 
ΘÚλ ùΜôο 

 1. Σ± 

 2. Ση∞Υ 

 3. Σ↔ƒ 

 4. ΣôΞλ 

 

32. •θχΚôÔλ ΣôΟûΩ Σ⁄ιÕ+ ↑∴ô↑σÏ ↑ûΟΥ↓− 

                    ΓûΨ♠τ Ï⁄ûΜ♠ο 

        ≅Óκ×λ ↑ΖχÏλ Θ↑ς 

     ΦοΩôúΤ Φ↔€τ[∴− 

  úΤσΚôÔλ ΣôΟÛχÏκ ùΣôÚιΘΤô∴ ΘûΩκ× 

 1. ΞßûΤ 

 2. ùΣôßûΤ 

 3. ùΣÚûΤ 

 4. ùΜÝûΤ 

 

 

 

 
  

 



33. •θχΚôÔλ ΣιƒûΥκ Σ⁄ιÕ ↑∴ô↑σÏ ↑ûΟΥ↓− 

 Θ♥ΨΚιƒο ≅εÑ ΒΥϕƒςδΚûΖ ΞςΞûΨιÕι 
Θ♥θèοΚρ ≅ε′Ο Ηúςôκ♦Υν ØΥτß ùΞσ° 
ΚηΟ∴ν− 0467 Βο ƒÚùΡοúΞ← ΤôΞγΟιƒÛρΖ 
×τû∴χΚôΥο Φτàλ ΒΟιƒο ≅εÑχáΟλ 
ΓσΣγΟÕ− ùΚôε′+ ûΞκ×χúΚôγûΟ+ ≅λΣΩχΚôÓ 
ØΘ←Υ ΣΩ ΡΚςδΚ↓ο ≅εÑ ΒΥϕƒςδΚρ 
úΘôτ°ι Θ♥θ èοΚûΖ ≅ε′γΟ∴− 

 •θχΚôÔλ ΡΚςιƒο ≅εÑχáΟλ ♣ßΞκΣΟ↑οûΩ 

 1. ≅λΣΩχΚôÓ 

 2. ≅ûΤϕΘχΚûς 

 3. ûΞκ×χ úΚôγûΟ 

 4. ùΚôε′ 

 

34. •θχΚôÔλ ΣιƒûΥκ Σ⁄ιÕ+ ↑∴ô↑σÏ 
↑ûΟΥ↓− 

 ƒÚ−↑−Κ←ΥôΠ ÑϕΘς∴ôν Θ♥→σÏλ+ 
Θ♥θΡôγ⁄σÏλ+ Θ♥θ ∆Ω€σÏλ ùΜµΘ 
ùΘôηÓΚρ ≅ΖÜ ΚΟϕΘ∴− Θ♥θι ùΘτ[ùΩ∴ 
×ΚΨκΣÓλ ΒΞν úΘΜΣχΘτ+ ΡΞΜχƒ+ ΒΘθΚûΖ 
ΡΟιƒ∴ôν− ØÚΚτ ≅οΩÕ ≅ΨÏ+ ≠νƒÚιΘλ 
≅οΩÕ ΒΖûΤ ↑ÚϕÕ+ ΒΤΥΤûΩ ≅οΩÕ 
ƒΥô∴λ+ ùΣη∞τ ùΣÚûΤ ≅οΩÕ ΞôθχûΚι 
ÕûΠ úΣôτ[ ΣΩ èοΚûΖ ΦÝƒÙρΖôν−  

 ƒÚ−↑−Κ←ΥôΠ ÑϕΘςλ ≅ΞνΚρ ΡΟιƒΥ ΒΘ→τ 
ùΣΥν 

 1. ƒΥô∴λ 

 2. ↑ÓΘûΩ 

 3. ΒΖûΤ ↑ÚϕÕ 

 4. ΡΞΜχƒ 

 
 
 



35. ‘ΜΤν’ , Φτàλ ùΜôο←τ ùΣôÚρ 

 1. úΞν 

 2. úΣôν 

 3. Τ[λ 

 4. Κςλ 

   

36. ‘ƒûς’ Φτàλ ùΜôο←τ ΒÚùΣôÚρ 

 1. ≅ûΩ+ úΚôÓ 

 2. ΑûΩ+ úΚôÓ 

 3. ≅ûΩ+ Ξ↔ 

 4. ΚΟο+ Øϕ¿ν 

  

37. ‘Θ♥θιùΘτ[ο’ Φτàλ ≅ûΟùΤô→ ùΣσ[Ξν 

 1. ΤΠûΞ ØυΘΣô 

 2. ΣγÓχúΚôγûΟ ΚοΥôΠÑϕΘςλ 

 3. ÅςΤôØ±Ξν  

 4. ƒÚ−↑−ΚοΥôΠÑϕΘς∴ôν 

   

38. Ξη×Κθ êΞν ΘηùΣô→ο Ξûςκ× Φτß 
Ï°κ♦Óλ èο 

 1. ùΘôοΚôκ♦Υλ 

 2. ≅ΚΡôòß 

 3. ×[Ρôòß 

 4. ′ΩκΣƒΚôςλ 

 

 



39. ‘ΑûΟûΥ Κôûς Φ∴ο’ ΦτΣÕ ΒπΞûΚ ΞΨχÏ 

 1. ΤδΚΩλ  

 2. Ïï∆χÏ° 

 3. ΒΟχΚςΟχΚο  

 4. Τì∆  

 
 

40. ‘¿ ↑ûΖΥôΟ↑οûΩΥô>’ Φτ[ ↑∴ô↑σÏ ‘Κôο 
Ξ←χ€[Õ’ Φτß áßλ ↑ûΟ 

 1. ∆σ[Õ ∆ûςιΘο ↑ûΟ 

 2. ∆ßΞÕ á[ο ↑ûΟ 

 3. ↑∴ô Φƒν ↑∴ôΘο ↑ûΟ 

 4. Β∴ùΤô→ ↑ûΟ 

 
41. Ιτß ùΣσ[ôο Ι↓ΤΥλ , ΒπΞûΚ ΑÏùΣΥν 

 1. ØΚιΘΩΖûΞ ΑÏùΣΥν  

 2. ΦÝιΘΩΖûΞ ΑÏùΣΥν 

 3. ¿γΟΩΖûΞ ΑÏùΣΥν 

 4. ΦηΠΩΖûΞ ΑÏùΣΥν 

  
42. ùΣôÚϕΘôΘ Ïσ°ΥÛΚςιûΘχ ΚηÓ♦⁄ 

 1. ΣôÏ 

 2. ΤôÑ 

 3. Τ?Ï 

 4. ΣôÓ 

 
  



 43. ‘ΞγΟιùΘôγ⁄’ , ΒπΞûΚι ùΘôûΚ 

  1. ∆ΞûΤι ùΘôûΚ 

 2. ≅τùΤô→ι ùΘôûΚ 

 3. ∆λûΤι ùΘôûΚ 

 4. Ση×ιùΘôûΚ 

  

 44. Ξο←∴λ ♥Ïλ ΒΟιûΘχ ΚηÓ♦⁄− 

 1. ′Ω ∆ÚΞΚε ùΜôσΚρ 

 2. ↑↓ιùΘôΟν 

 3. ↑û∴ιùΘôûΚ 

 4. ∆λûΤιùΘôûΚ 

 

 45. ùΣôÚιÕΚ− 

      èο              Α′↔Υν 

    1. ≅[Øλ ≅ς′ΥÛλ  , ≅− ΣôΞηΠτ 

    2. ΦηΠδΚρ       , Α− Ø− ΞςΘςôΜ∴ôν 

    3. Υôû∴ ΜΞô↔    ,Β− Φλ−Φυ−∆ΘΥêνιƒ 

    4. ΚοΤςλ     , Χ− ƒΩΚΞƒ 

 1. 1,Χ+ 2,Β+ 3,Α+ 4,≅ 

 2. 1,Α+ 2,Β+ 3,≅+ 4,Χ 

 3. 1,Α+ 2,≅+ 3,Χ+ 4,Β   

 4. 1,Α+ 2,Χ+ 3,≅+ 4,Β 

 

 

 

 



46. Θ♥→ο ΚÚιÕ ΣΟδΚûΖ ≅°ØΚκΣÓιƒΥΞν 

 1. úΜô− ΘνΤτ 

 2. úΚôΠδ€ 

 3. ΣôςƒΥôν   

 4. Φυ− ΒςôΤ€ÚωΠτ 

 

47. ΟôχΟν− Φυ− ΒςôΘô€ÚωΠτ ♦[ϕΘΡôρ 
ΒϕΡôΖôΚχ ùΚôηΟôΟκΣÓ€[Õ 

 1. Α′↔Υν Ρôρ 

 2. ΤôΠΞν Ρôρ 

 3. úΘ′Υ ΒûΖΝν Ρôρ 

 4. Κο↑ ΞΖνε′ Ρôρ 

 

48. ϑΙΘο úΞηÓλ , ΒεùΜôοÛχÏ↔Υ ≅ΖùΣûΟ 

 1. ùΜôο←ûΜ ≅ΖùΣûΟ 

 2. Βτ±ûΜ ≅ΖùΣûΟ 

 3. Ισ[ΖùΣûΟ  

 4. ùΜµÙ↓ûΜ  ≅ΖùΣûΟ 

 

49. ƒûΠ+ Σôο ΚôγÓλ ΣÏΣΘ ∆ßκ× 

 1. ΣÏƒ 

 2. ΒûΟ♣ûΩ 

 3. ↑Ïƒ  

 4. Μϕƒ 

 

 



 50. ‘Β⁄κΣôûς’ , ΒεùΜôοûΩ ≅Ω€ÓΚ− 

 1. úΡν+ ♣ûς+ úΡν  

 2. ♣ûς+ úΡν+ úΡν 

 3. ♣ûς+ ♣ûς+ úΡν  

 4. ♣ûς+ ♣ûς+ ♣ûς 

 

51. •θχΚôηΣ∴Ξσû[ ΚΞ±−  
 

áσß A. ΚΟÛλ ΚΟοΜôνϕΘ ΒΟØλ ùΡµΘο 

  áσß B.  ΦσΣôÓ ♦σΣΚο 1 Τ∞ ØΘο 5 Τ∞  
           Ξûς 

 1. áσß A Τσßλ B Μ↔ 

 2. áσß A Μ↔+ áσß B ΘΞß 

 3. áσß A ΘΞß+ áσß B Μ↔ 

 4. áσß  A Τσßλ B ΘΞß 

 

52. ùΣÚûΤχÏλ Γû∴ε ′ßûΤχÏλ ΘιΘλ 

 ΚÚΤúΤ ΚγΟûΖχ Κο 

, ΒχÏ[↓ο Σ♠τß ΞϕÕρΖ ≅∞ 

 1. ùΜôσùΣôÚρ ♦τΞÚ♣ûΩΥ∞ 

 2. ΘσÏ°κúΣσ[Υ∞ 

 3. ΞφΜκ×Κθε′Υ∞ 

 4. ΓΚúΘΜ ∆ÚΞΚ ≅∞ 

 

 

 

 



 

53. ΣôςƒΘôΜτ Σôη⁄Υτ Σ↔ûΜ ΒΥσ°∴ôν− 
ùΜµ↑û∴ι ùΘôΟûς ùΜΥκΣôγÓ ↑û∴ι 
ùΘôΟςôΚ ΤôσßΚ− 

 1. Σôη⁄ΥτΣ↔Ñ ΣôςƒΘôΜ∴ôο ΒΥσ[κΣγΟÕ  

 2. Σôη⁄Υτ Σ↔ûΜ ΣôςƒΘôΜτ ΒΥσ°∴ôν  

 3. ΣôςƒΘôΜτ ΒΥσ°∴ôν Σôη⁄Υτ Σ↔Ñ 

 4. Σôη⁄Υτ Σ↔Ñ ΒΥσ°∴ôν ΣôςƒΘôΜτ  

 

54.    ùΜδÏγÓΞàχÏι Θλ♦ ΒΖδúΚô , ΒπΞûΚ 
úΞσßûΤ 

 1. ΗϕΘôλ úΞσßûΤ 

 2. ΓΨôλ úΞσßûΤ 

 3. ΡôτΚôλ úΞσßûΤ  

 4. Α[ôλ úΞσßûΤ 

 

55. ùΜôοùΣôÚρ  9  Ξδáθ 

 1. ùΘôσß 

 2. Τôσß 

 3. Ñσß  

 4. Κôσß 

 

56. úΜνιÕ ΦÝÕΚ 9 Βτ× ∗ ∆ÚÏ 

 1. Βτ×λ ∆ÚÏ 

 2. Βτ×ÚÏ 

 3. Βτ× ∆ÚÏ 

 4. ΒτΣÚÏ 



57. ♦↔ιÕ ΦÝÕΚ 9 ΞοÛÚΞλ 

 1. Ξο ∗ ∆ÚΞλ 

 2. ΞοΩ ∗ ∆ÚΞλ 

 3. ΞτûΤ ∗ ∆ÚΞλ 

 4. ΞοÛ ∗ ∆ÚΞλ 

 

58. ΦƒνεùΜôο  9 ≅ς′ x 
 1. úΣςς′ 

 2. Βςô∞ 

 3. ΘûΩ↑  

 4. ≅ςΜτ 

 

59. ΒûΟ♠∴ ΦÝιÕΚρ 

 1. 01 

 2. 5 

 3. 07 

 4. 0/ 

 

60. Μ↔Υô∴ ≅Κς Ξ↔ûΜ♠ο Κôη 

 1. Κôµ+ ÏΘûΩ+ ûΚÕ+ úΚôΘλ 

 2. ÏΘλûΣ+ ΚôµεΜο+ ûΚκ♦ςƒ+ úΚôςûΚ 

 3. úΚôςλ×+ ûΚκ×←+ Ï↓νε′+ Κôλ× 

 4. Ï[ιƒ+ Κô∴Κλ+ úΚôûςκΣο+ ûΚ♠Úκ× 

 

 

 



 
 

61. While Einstein was solving the most difficult problems in 
Physics, his private life was unravelling. 

 Identify the synonym of ‘unravelling’. 
 1. entangling 
 2. twisting 
 3. confusing 
 4. solving 

 

62. One day she noticed a girl playing a xylophone and decided that 
she wanted to play it too. 

 Identify the antonym of ‘noticed’ in the context of the sentence. 
 1. overlooked 
 2. observed 
 3. participated 
 4. removed 

 

63. The movie ________ by the critics as one of the best of the year. 
 Identify the best option that fits the blank. 
 1. is been praised 
 2. was praised 
 3. praises 
 4. has praised 

 

  



64. Choose the correct prefix for the word ‘connect’ to mean ‘not 
connect’. 

 1. in - 
 2. dis - 
 3. re - 
 4. over -  
 
65. Her performance was amazing; she really hit the nail on the 

head with her portrayal of the character. 
 Identify the meaning of ‘hit the nail on the head’ in the above 

sentence. 
 1. to describe something accurately 
 2. to miss an opportunity 
 3. to be physically accurate 
 4. to solve a problem quickly 

 

66. Choose what ‘get along’ means: 
 1. to tight 
 2. to ignore 
 3. to have a good relationship 
 4. to disagree 

 

67. Identify the word that comes first in an alphabetically ordered 
dictionary: 

 1. Elevator 
 2. Elephant 
 3. Elegant 
 4. Election 

 

 



68. Identify the sentence that correctly uses commas to separate 
items in a list: 

 1. We need milk, bread and, eggs. 
 2. We need, milk, bread, and, eggs. 
 3. We need milk, bread, and eggs. 
 4. We, need, milk bread and eggs. 
 
69. Despite the train being late, Preetha waited for the train. 
 Choose the sentence that correctly converts the simple sentence 

into a compound sentence: 
 1. The train was late, though Preetha waited for it. 
 2. Preetha waited for the train because it was late. 
 3. Preetha not wait for the train despite it being late. 
 4. The train was late, but Preetha waited for it. 
 
70. Identify the grammatically correct sentence: 
 1. Each of the cars are fast. 
 2. Each of the cars is fast. 
 3. Each of the car are fast. 
 4. Each the car is fast. 
 
71. Choose the sentence that provides factual information: 
 1. Can you help me with this project? 
 2. The sun rises in the east 
 3. Wow, that was fun! 
 4. Please turn off the lights. 

 

  



72. Identify the correct spelling of the word 
 1. rhythym 
 2. rythm 
 3. rhythim 
 4. rhythm 

 

73. She said, “I went to the market yesterday.” Choose the correct 
indirect speech: 

 1. She said that she had gone to the market the previous 
day. 

 2. She said that she goes to the market yesterday 
 3. She said that she has gone to the market the previous day. 
 4. She said that she goes to the market the previous day 

 

74. If you don’t follow the traffic rules, you will be punished. 
 Choose the correct type of conditional clause:  
 1. Zero conditional 
 2. Firstconditional 
 3. Second conditional 
 4. Third conditional 

 

75. One of the following is the term for a person who believes in the 
presence of God: 

 1. Atheist 
 2. Theist 
 3. Agnostic 
 4. Pantheist 
 

 



76. Abstract nouns and uncountable nouns are considered _______ 
subjects. 

 Choose the option that fits the blank. 
 1. dual 
 2. multiple 
 3. singular 
 4. plural 
 
77. Choose the correct example of a declarative sentence: 
 1. Are you going to the store? 
 2. Please pass the book. 
 3. The sky is clear today. 
 4. What a beautiful view! 

 

78. The company is expanding its operations. 
 ___________, it is hiring more staff to meet the demand. 

Choose the linker that fits the blank. 
 1. Despite 
 2. Similarly 
 3. Hence 
 4. Nevertheless 

 

79. Select the sentence where the definite article is used before 
nouns of new papers and magazines. 

 1. The Indian Express 
 2. The Indian Railways 
 3. The boy who is reading a magazine. 
 4. The girl who is selling newspapers. 

 

 



80. “__________ you let me know if you’re coming?” 
 1. Should 
 2. Must 
 3. Could 
 4. Can 

 
81. Identify the sentence that correctly uses a predicate nominative. 
 1. He is a fast runner. 
 2. They quickly ran to the shore. 
 3. The winner of the race is she. 
 4. The cake tastes sweetly. 
 
82. Identify the sentence that uses an adjective to modify a noun 

correctly. 
 1. She sang the song beautifully. 
 2. The beautiful garden is full of flowers.  
 3. The quickly fox jumped over the fence. 
 4. He runs every morning. 
 
83. To reflect on what you have learned from the day’s events, you 

should include _______ in your diary entry. 
 1. a list of people you met. 
 2. Personal reflections and lessons learned. 
 3. details about upcoming events 
 4. a summary of your work achievements. 
  

  



84. One of the following should be included in the heading of an 
invitation. Choose your option. 

 1. RSVP details 
 2. contact information 
 3. venue address 
 4. event purpose or title  
 
85. Identify the sentence in the present perfect tense: 
 1. She is singing a song. 
 2. They will arrive soon. 
 3. He has written a letter. 
 4. I was reading a book. 
 
86. She will be waiting for you at the station. 
 Identify the tense of the sentence:  
 1. Simple future tense 
 2. Future Continuous tense 
 3. Future Perfect tense 
 4. Future Perfect Continuous tense 
 
87. The cat is _________ the house. 
 Choose the option that fits the blank. 
 1. due to 
 2. outside of 
 3. on behalf of 
 4. on account of 
 

  



88. The concert was cancelled __________ bad weather. 
 Choose the preposition that fits the blank. 
 1. owing to 
 2. in view of 
 3. in back of 
 4. out of  

 

89. Read the passage carefully. 
 Public transportation in India faces challenges such as 

overcrowding, underfunding, and poor infrastructure, 
particularly in growing urban areas. Inadequate transportation 
affects daily commuting and economic opportunities, especially 
for low-income individuals. Enhancing public transportation 
systems and investing in infrastructure improvements are crucial 
for better mobility and accessibility. 

 Identify a key issue with public transportation in India. 
 1. overfunding 
 2. effective management 
 3. poor infrastructure 
 4. reduced demand 

 

  



90. Read the passage carefully. 
 Public transportation in India faces challenges such as 

overcrowding, underfunding, and poor infrastructure, 
particularly in growing urban areas. Inadequate transportation 
affects daily commuting and economic opportunities, especially 
for low-income individuals. Enhancing public transportation 
systems and investing in infrastructure improvements are crucial 
for better mobility and accessibility. 

 Investing in __________ improvements is crucial for better 
public transportation 

 Choose the option that fits the blank. 
 1. technology 
 2. legal 
 3. environment 
 4. infrastructure 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

91. ΔDEF~ΔABC  and their areas are respectively 64cm2 and 
121cm2, EF=15.4cm, then BC =   (in cms)   

 ΔDEF~ΔABC  úΤÛλ ≅Ξσ°τ ΣςκΣΖÜΚρ 
Øû[úΥ 64 Μ−ùΜ−Á Τσßλ 121 Μ−ùΜ−Á−          

EF R15.4ùΜ−Á− Φ±ο  BC =        ( ùΜ−Á− , ο)   

 1. 11 
 2. 8 

 3. 11.2 

 4. 8.4   

  

92. If 21
Cos

Sin1
+=

+
q
q then the value of )1( qq SinSec - is   

 21
Cos

Sin1
+=

+
q
q

  Φ±ο )1( qq SinSec -  τ Τƒκ×  

 1. 21-  

 2. 12 -  

 3. 21--  

 4. 21+  

 

93. Sum of roots of quadratic equation 22x 2 2x 1 0- + = is  

 22x 2 2x 1 0- + =  Φτ[ ΒÚΣ⁄ ΜΤτΣôγ⁄τ 

êΩδΚ↓τ áÓΘο 

 1. 2 

 2. 2  

 3. 2-  

 4. 2-  

 



94. The least number which when divided by 15,16 and 18 leaves a 

remainder 4 in each case is 

 15, 16  Τσßλ  18 Αο ΞÏχÏλ úΣôÕ ΙπùΞôÚ 

Øû[Ùλ Áƒ 4 Η Θςχá⁄Υ ♥Κε′°Υ Φη  

1. 556 

 2. 564  

 3. 716  

 4. 724   

  

95. tan (A ̶ B) = 
3

1 and Sin(A+B) = Cos(A+B). 

 A-B and A+B are acute angles, then the angle A is   

 tan (A ̶ B) = 
3

1  úΤÛλ   Sin(A+B) = Cos(A+B). 

A-B  Τσßλ  A+B ΦτΣûΞ ÏßδúΚôΠδΚρ 

Φ±ο úΚôΠλ  A  τ Τƒκ×  

 1. 0
2

17  
 2. 0

2
115  

 3. 0
2

129  
 4. 0

2
137  

  

96. If the following pair of linear equations have infinitely many 
solutions then p = _____ 
•θχΚôÔλ úΡ↔Υ ú⊥ô⁄ ΜΤτΣôÓΚÞχÏ 
Ø⁄↑Ωô ¾νÜΚρ ∆ρΖ∴ Φ±ο  p = _____ 

px+3y-(p-3) = 0 ; 12x+py-p = 0  

 1. -6 
 2. 6,- 6 
 3. 6 
 4. 36  
 



97. The sum of either pair of opposite angles of a cyclic  

 quadrilateral is ___ 

ΙÚ  ΞγΟΡôσΚςιƒο ∆ρΖ ΓúΘàλ Φƒùςƒν 

ú⊥ô⁄ úΚôΠδΚ↓τ ùΤôιΘλ   ___ 

 1. 2p  

 2. p  

 3. 
3
p  

 4. 
4
p

 

 

98. Number of zeroes of the polynomial  

represented by the adjacent graph is  

≅Ú€ÛρΖ ΞûςΣΟιƒο+ 

ΣοÛßκ×χúΚôûΞ♠τ 

éϖ≥ΥδΚ↓τ Φη∞χûΚ  

1. 4 

 2. 3 

 3. 2 

 4. 1 

 

99. The complementary angle of (x+3)° is (2x)°. Then x =  

 (x+3)° τ ♣ςκ× úΚôΠλ  (2x)° Φ±ο  x = 

 1. 28° 

 2. 29° 

 3. 31° 

 4. 33° 

 



100. Identify the FALSE statement  
 1. The two points (-a,b) and (a,-b) are equidistant from  

 origin  
 2. The distance of the point (a,b) from y-axis is ‘b’ units 
 3. If x<0 and y>0 then (-x,y) lies in Quadrant-I  
 4. Equation of x-axis is “y = 0” 
 ΘΞ[ô∴ áσû[ ≅ûΟΥôΖλ ΚôηΚ−  
 1. (-a,b) Τσßλ (a,-b)  Φàλ ×ρ↓Κρ 

Αƒκ×ρ↓♠←ÚϕÕ ΜΤô∴ çςιƒο 
∆ρΖ∴−  

 2. y` ≅ε′←ÚϕÕ (a,b) ×ρ↓χÏ ∆ρΖ çςλ ‘b’  
≅ΩÏΚρ 

 3. x<0  Τσßλ   y>0 Φ±ο  (-x,y)  ×ρ↓   ØΘο 
ΚôοΣÏƒ♠ο ∆ρΖÕ. 

 4. x`≅ε′τ ΜΤτΣôÓ “ y = 0 ”  
 

 

101. ,.......4,22,2 is a Geometric progression. In this GP,10th term  
is ____ 

 ,.......4,22,2 Φτ[ ùΣÚχÏι ùΘôΟ↔τ  10ΞÕ ∆ßκ× 

 1. 32 2  
 2. 32 
 3. 16 2  
 4. 16 
 

102. The smallest natural number by which 3136 must be multiplied 
to get a perfect cube is _____  

 ØÝ Κ∴ ΦηûΠκ ùΣßΞΘσÏ 3136 ∆Οτ 

ùΣÚχΚ úΞη⁄Υ ♥Κε′°Υ ΒΥο Φη ____ 

 1. 2 
 2. 3 
 3. 5 
 4. 7 
 



103. A circle with radius ‘a’ units inscribed in a square. Suppose a 
die dropped on the square region then the probability that is will 

land inside the circle is (take 
7
22

=p  ) 

 ‘a’ ≅ΩÏΚρ Αςλ ∆ûΟΥ ΞγΟΤô∴Õ+ ΙÚ 
ΜÕςιƒτ ∆ρΞûς♠ο ≅ûΤϕÕρΖÕ− ΙÚ 
ΣΚûΟûΥ ΜÕςκ ΣÏƒ♠ο ΒÓλ úΣôÕ+ ≅Õ 
ΞγΟιƒτ ∆ρúΖ ↑ÝΞΘσΚô∴ ♣ΚθΘΚÜ  

 (
7
22

=p Φ∴χùΚôρΚ )  

 1. 
7

11  

 2. 
14
11  

 3. 
7
2  

 4. 
22
7

 
 
 
104. A cone of height 10cm and radius of base 5cm is made up of 

modeling clay. A child reshapes it in the form of a hemisphere. 
Then the radius of hemisphere is ______    

 1. 3cm 
 2. 4cm 
 3. 5cm 
 4. 6cm  

 10 ùΜ−Á ∆Υςλ+ 5 ùΜ−Á− ≅⁄ Αςλ ∆ûΟΥ áλ× 

Ξ⁄Ξ Κ↓Τη ∆ρΖÕ− ΙÚ ′ßΞτ ≅ûΘ ΙÚ 
≅ûς úΚôΖΤôΚ Τôσ°∴ôο+ ≅ϕΘ ≅ûς 
úΚôΖιƒτ Αςλ  ______  

 1. 3 ùΜ−Á− 
 2. 4 ùΜ−Á− 
 3. 5 ùΜ−Á− 
 4. 6 ùΜ−Á 

−  



105. Identify the FALSE statement  
 1. 1 lakh = 1000 hundreds  

 2. 1 crore = 1000 thousands 
 3. 1 million = 10 lakhs 

 4. 1 crore = 10 million 
 ΘΞ[ô∴ áσû[ ≅ûΟΥôΖλ ΚôηΚ−  
 1. 1 ΒΩγΜλ = 1000 èßΚρ 

 2. 1 úΚô⁄ = 1000 Α♠ςδΚρ 
 3. 1 ♥ο←Υτ = 10 ΒΩγΜδΚρ 

 4. 1 úΚô⁄ = 10 ♥ο←ΥτΚρ  

 

106. The value of %
2
112 of 64  

 64 ο %
2
112

 
τ Τƒκ×___ 

 1. 7 

 2. 
2

25  

 3. 16 
 4. 8  
 

107. Mode of certain observations is K. If each observation is 

decreased by 2, then the mode of the new data is  

 ′Ω Ï°κ♦γΟ ↑ΞςδΚ↓τ ØΚÓ K . ΙπùΞôÚ 

↑ΞςιûΘÙλ 2 Ïû[ιΘôο+ €ûΟχÏλ ×ƒΥ 

↑Ξςιƒτ ØΚÓ  

1. K  
 2. K-2 

 3. 2K
 

 

 4. K+2 

 

 



108. The perimeter of a rectangle is 10cm and length is 2.4cm, then 
breadth is  

 1. 7.6cm 
 2. 5.2cm 
 3. 2.6cm 
 4. 5cm  

 ΙÚ ùΜπΞΚιƒτ Ñσ[ΖÜ 10 ùΜ−Á− úΤÛλ ≅Θτ 

¿Ζλ 2.4 ùΜ−Á− Φ±ο ≅Θτ ≅ΚΩλ ___ 

 1. 7.6 ùΜ−Á− 
 2. 5.2 ùΜ−Á− 
 3. 2.6 ùΜ−Á− 
 4. 5 ùΜ−Á− 
 
 
109. Three points (4,p),(5,6) and (6,8) are collinear. Then value of ‘p’ 

is _____ 

 (4,p),(5,6) Τσßλ (6,8) ΦτΣûΞ ΙÚ úΚôΟûΤÜ 
×ρ↓Κρ Φ±ο ‘p’ τ Τƒκ×    

 1. - 2 

 2. - 4 
 3. 4 
 4. 2  
 

 

 

 

 

 



110. The mean of 11 observations is 40. If the mean of first six 
observations is 35 and the mean of last six observations is 42 
then the sixth observation is   

 11 ∆σßúΡôχΚοΚ↓τ ΜςôΜ↔ 40. ØΘο Αß 

∆σßúΡôχΚοΚ↓τ ΜςôΜ↔ 35 Τσßλ ΚûΟ′ Αß 

∆σßúΡôχΚοΚ↓τ ΜςôΜ↔ 42 Φ±ο Α[ôΞÕ 

∆σßúΡôχΚο 

 1. 37 

 2. 33 

 3. 47 

 4. 22 

 

111. The area of a rhombus is (x2+5x+6)cm2 and one of the diagonal 
is (x+2)cm, then the second diagonal is ___ 

 1. 2(x+1)cm 

 2. (x+2)cm 

 3. 2(x+3)cm 

 4. (x+3)cm 

  ΙÚ ΜôµΜÕςιƒτ ΣςκΣΖÜ ( x2+5x+6 ) Μ−ùΜ−Á− 

úΤÛλ ≅Θτ êûΩ↑γΟδΚ↓ο Ιτ°τ 
¿Ζλ (x+2) ùΜ−Á− Φ±ο Τσù[ôÚ êûΩ↑γΟιƒτ 

¿Ζλ ___ 

 1. 2(x+1) ùΜ−Á− 

 2. (x+2) ùΜ−Á− 

 3. 2(x+3) ùΜ−Á− 

 4. (x+3) ùΜ−Á−  



112. Match the following 

 (a)
7
5

5
2

2
3

5
2

7
5

2
3

5
2

´+´=÷
ø
ö

ç
è
æ +´  (i) Associative law 

 (b)
3
5

3
50

3
5

3
5

+÷
ø
ö

ç
è
æ -==÷

ø
ö

ç
è
æ -+   (ii) Distributive law 

 (c)  
5
3

2
7

2
7

5
3

´=´    (iii) Additive inverse  

             property 

 (d) 
6
5

2
7

3
2

6
5

2
7

3
2

+÷
ø
ö

ç
è
æ +=÷

ø
ö

ç
è
æ ++  (iv) Commutative law 

 •θχΚηΟΞσû[ ùΣôÚιÕΚ− 

 (a)
7
5

5
2

2
3

5
2

7
5

2
3

5
2

´+´=÷
ø
ö

ç
è
æ +´  (i) úΜνκ× ↑ƒ 

 (b)
3
5

3
50

3
5

3
5

+÷
ø
ö

ç
è
æ -==÷

ø
ö

ç
è
æ -+   (ii) Σδ•γÓ ↑ƒ 

 (c)  
5
3

2
7

2
7

5
3

´=´  (iii) áγΟο úΡνΤôß       

     Ση×  

 (d) 
6
5

2
7

3
2

6
5

2
7

3
2

+÷
ø
ö

ç
è
æ +=÷

ø
ö

ç
è
æ ++  (iv) Σ↔Τôσß ↑ƒ  

 1. a-ii,  b-i,   c-iii, d-iv 
 2. a-iii, b-ii,  c-i,   d-iv 
 3. a-ii,  b-iii, c-iv, d-i  
 4. a-iii, b-i,   c-ii,  d-iv  
  

113. 15% of 20 + 20% of 30 = x% of 50 then x =  
 20 ο 15% G 30 ο 20% R 50 ο x% Φ±ο x = 

 1. 16 
 2. 17 
 3. 19 
 4. 18 
 

 

 



114. If two dice are rolled simultaneously then the probability of 
getting odd numbers on both dice is  

 Ιúς ΜΤΥιƒο ΒςηÓ ΣΚûΟΚûΖ ∆ÚγÓλ 
úΣôÕ+ Βςη⁄τ ÁÕλ Ισû[ ΦηΚρ 
€ûΟκΣΘσΚô∴ ♣ΚθΘΚÜ 

 1. 
4
1  

 2. 
4
3  

 3. 
9
1  

 4. 
9
2

 
 

115. “The knowledge of numbers, mass and measurement is the 
mathematics”. This definition is given by  

 1. Bell 
 2. Pascal 
 3. Russel 
 4. Peirce 

 »»Κ∞Θλ ΦτΣÕ ΦηΚρ+ ♣û[ Τσßλ 

≅ΖÅÓΚ↓τ ≅°Ü µµ Φ∴ ΞûςΥßιΘΞν 

 1. ùΣο 

 2. ΣôυΚο 

 3. ςυ]ο 

 4. ♦Υνυ 

 

 

 

 

 



116. “Among different closed figures having same perimeter, circle 
has the highest area”. This is proved by  

 1. Euclid  
 2. Archimedes 
 3. Ptolemy  
 4. Pythagoras  
 

 »»Ιúς Ñσ[ΖÜ ùΚôηΟ ùΞπúΞß ê⁄Υ 

ΣΟδΚ↓ο+ ΞγΟλ ≅ƒΚ ΣςκΣΖûΞχ 
ùΚôη⁄ÚχÏλµµ  Φ∴ ♣ì♦ιΘΞν 

 1. ëχ↓γ 

 2. Αν€♥⁄υ 

 3. ΘôΩ♥ 

 4. ♦ΘôΚςυ 

 
117. ‘The learner, understands the method of solving problems’. This 

belongs to the following academic standard 
 1. Problem-solving 

 2. Reasoning - proofs 
 3. Communication 
 4. Connection  

 »ΚσΣΞν ♦ςεΜû∴ΚûΖ ¾νχÏλ Øû[ΚûΖ 

×↔ϕÕχ ùΚôρÞΘο µ ΦτΣÕ ΒϕΘ ΘςιûΘ 

ΜôνϕΘÕ 

1. ♦ςεΜû∴ ¾ν 

 2. ΚôςΠλ áßΘο `  ♣ì♦ιΘο 

 3. ΘΚΞοΚρ 

 4. ùΘôΟν×ΣÓιÕΘο   

 

 

 



118. According to Herbart’s,this step should take place before 
‘Generalization’ in lesson plan preparation.   

 1. Application  
 2. Presentation  
 3. Association  
 4. Recapitulation  

 ùνΣôν⁄τ áσßκΣ⁄+ »ùΣôÕûΤκΣÓιÕΘοµ Øτ 

∆ρΖ Σ⁄♣ûΩ   

 1. ΣΥτΣôÓ 

 2. ΦÓιÕûςιΘο 

 3. ΒûΠ×ΣÓιÕΘο   

 4. ùΘôÏιÕχ á[ο   

 

119. Assessment is  
a) Quantitative    b) Qualitative  

 1. Only (a) correct 
 2. Only (b) correct  
 3. (a) and (b) are not correct 
 4. (a) and (b) both are correct 
 ΤƒκÀÓ ΦτΣÕ+ 
 a) ≅Ζ↑Οχá⁄ΥÕ b) Θςλ ∆ûΟΥÕ  
 1. (a) ΤγÓλ Μ↔ 
 2. (b) ΤγÓλ Μ↔   

 3. (a) Τσßλ (b) ΒςηÓλ ΘΞß 
 4. (a) Τσßλ (b) ΒςηÓλ Μ↔    

 

 

 

 

 

 



120. One of the following is related to Inductive approach  
 1. Abstract to concrete  

 2. From general to specific 
 3. Generalization from observations 
 4. Tests Formulae 
 ↑ƒΞÚ ≅ÔÏØû[χÏ ùΘôΟν×ûΟΥÕ 
 1. ΚÚκùΣôÚ↓←ÚϕÕ ΣÚκùΣôÚÞχÏ 

 2. ùΣôÕûΤ♠←ÚϕÕ Ï°κ♦γΟΞσ°σÏ 

 3. ∆σßúΡôχΚοΚρ êΩλ ùΣôÕûΤκΣÓιÕΘο 

 4. ãιƒςδΚûΖ úΜôΘû∴ ùΜµΘο 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



  
 
121. To measure the length of the curved line, the materials needed 

are 
  1. Thread and stop clock 

 2. Common balance and scale  
 3. Thread and scale  

 4. Stop clock and common balance   
 ΞûΖΞô∴ úΚôγ⁄τ ¿ΖιûΘ ≅Ζ↑Ο ΣΥτΣÓλ 

ùΣôÚγΚρ 

 1. Κ♠ß Τσßλ ♣ßιÕ Κ⁄Κôςλ 

 2. ΜôΘôςΠ ΘςôÑ Τσßλ ≅ΖÜúΚôο 

 3. Κ♠ß Τσßλ ≅ΖÜúΚôο 

 4. ♣ßιÕ Κ⁄Κôςλ Τσßλ ΜôΘôςΠ ΘςôÑ  

 
122. On shaking the branch of a tree, the fruits fall down due to  

  1. Inertia of motion  
2. Inertia of direction  

 3. Inertia of rest  
 4. Pressure  
 ΙÚ Τςιƒτ €ûΖûΥ ≅ûΜχÏλúΣôÕ+ ≅ƒο 

∆ρΖ ΣΨδΚρ •úΨ ↑ÝΞΘτ ΚôςΠλ 

 1. ΒΥχΚιƒτ ♣ûΩΤλ 

 2. ƒûΜ♠τ ♣ûΩΤλ 

 3. ≅ûΤƒ ♣ûΩ♠τ ♣ûΩΤλ 

 4. ≅ÝιΘλ 

 

 

 

 

 



123. Work done will be zero, when the angle between force and 
displacement is 

  úΞûΩ ΡûΟùΣσ[Õ éϖ≥Υλ ΑΚ+ ↑ûΜ Τσßλ 

ΒΟκùΣΥνε′ΚÞχ€ûΟúΥ úΚôΠλ  
  1. 0° 

 2. 45° 
 3. 180° 

 4. 90° 
 

124.  Four identical tin cans are painted with different types of paint. 
They are heated to the same temperature and left in vaccum. 
Among the following the can which loose heat most quickly is  

  1. Rough black painted tin can  
 2. Shiny white painted tin can  
 3. Shiny black painted tin can  

 4. Rough white painted tin can  
 ΡôτÏ Ιúς Τôƒ↔Υô∴ ΘΚς ΟκΣôχΚÞχÏ 

ùΞπúΞß ΞηΠδΚρ ¾γΟκΣγΟ∴− ≅Ξσû[ Ιúς 
≅ΖÜ ùΞκΣ♣ûΩχÏ ùΞκΣêγ⁄ ùΞσ°Οιƒο 
ûΞχΚκΣÓ€[Õ− ΒϕΘ ΘΚς ΟκΣôχΚ↓ο ↑ûςΞôΚ 
ùΞκΣιûΘ ΒΨχÏλ ΟκΣô 

 1. ΚςÓØςΟô∴ ΚÚûΤ♣[ ΟκΣô 

 2. ΣΖΣΖκΣô∴ ùΞηûΤ♣[ ΟκΣô  

 3. ΣΖΣΖκΣô∴ ΚÚûΤ♣[ ΟκΣô 

 4. ΚςÓØςΟô∴ ùΞηûΤ♣[ ΟκΣô  

 

  



? 

? 

125. The time in the analog clock shows 10h.10m.10s. It’s image in 
plane mirror shows 

 ΙÚ ΜôΘôςΠ (ØσΚûΖ ùΚôηΟ) Κ⁄Κôςιƒο 

úΡςλ 10Τ∞ 10♣♥Ολ 10ùΡô⁄ Φ∴ ΚôγÓ€[Õ− 

ΒΘτ ♦λΣλ ΜΤΘΖ Α⁄♠ο ΚôγÓλ úΡςλ 
  1. 01.49.50 

 2. 02.49.50 
 3. 02.50.50 

 4. 10.10.10 
 

126. DC generator :commutator::AC generator:  
  1. Carbon brush 

 2. Coil 
 3. Resistor  

 4. Slip rings  
 DC ♥τ±Υσ°:ƒûΜΤôσ°::AC♥τ±Υσ° :    

 1. ΚôνΣτ ç↔ûΚΚρ 

 2. Κλ♦εÑÚρ 

 3. ♥τΘûΟΥôχ€ 

 4. ΡÝÜ ΞûΖΥδΚρ  

 

  



127. Match the element in SET-A with its ore given in SET-B 
   SET-A              SET-B 
 A. Ca  P. Gypsum 
 B.  Mg   Q. Magnetite 
 C. Fe  R. Zincite 
 D. Zn  S. Magnesite  

  SET-A ♠ο  ∆ρΖ Θ±ΤιûΘ SET-B  ♠ο ∆ρΖ 

ΘôÕÜΟτ ùΣôÚιÕΚ−   

 SET-A                 SET-B 
 A. Ca  P. ≥κΜλ 
 B.  Mg   Q. Τôχ∴ûΟγ 
 C. Fe  R. ≥δχûΜγ 
 D. Zn  S. Τôχ∴ûΜγ 

 1. A-P, B-Q, C-S, D-R 
 2. A-P, B-S, C-R, D-Q 
 3. A-P, B-S, C-Q, D-R 

 4. A-R, B-S, C-Q, D-P 
 

128. The incorrect statement about suspension.  
  1. It is a homogeneous mixture. 

 2. The particles of suspension can be seen with naked eye. 
 3. The particles of suspension can scatter the light. 

 4. The solute particles settle down when suspension is not  
 disturbed. 

 ùΘôδΚοΚρ ùΘôΟνΣô∴ ΘΞ[ô∴ áσß 

 1. ΒÕ ΙÚ ΙÚΣ⁄ιΘô∴ ΚΩûΞ 

 2. ùΘôδΚοΚ↓τ ÕΚρΚûΖ ΜôΘôςΠ 

ΚηΠôο ΣôνχΚ ΒΥÛλ 

 3. ùΘôδΚοΚ↓τ ÕΚρΚρ Ι↓ûΥ ′Θ[ο 

ùΜµ€τ[∴ 

 4.  ùΘôδΚοΚ↓τ ΚûςΜûΩ ′°ÕúΡςλ 

≅ûΜχΚôΤο ûΞχÏλúΣôÕ ΚûςùΣôÚ↓τ 
ÕΚρΚρ ≅⁄♠ο ΘδÏ€τ[∴  



129. The masses of potassium, carbon and oxygen are 39,12 and 16 
units respectively. The formula unit mass of potassium 
carbonate will be 

 ùΣôγΟô′Υλ+ ΚôνΣτ Τσßλ Αχ′⊥τ 
Α€ΥΞσ°τ ♣û[Κρ Øû[úΥ 39,12 Τσßλ  16  

 ≅ΩÏΚρ− ùΣôγΟô′Υλ ΚôνΣú∴γ⁄τ ãιƒς ≅ΩÏ 
♣û[ 

 1. 99u 
 2. 138u 
 3. 122u 

 4. 83u 
 
 

130. If a molecule has three covalent bonds around the nucleus of the 
central atom without any lone pairs, then the bond angle would 
be  

 ΙÚ êΩχá°τ ΙÚ ≅Ô↑τ ∆γΚÚûΞε Ñσ° 
êτß ΜΚ♦ûΠκ×Κρ ΒÚϕÕ ≅Θτ ÁÕ Θ±ιΘ 
ΦΩχγςôτ ⊥ûΘΚρ ΒοûΩ Φ±ο ≅ϕΘ 
êΩχá°τ ♦ûΠκ×χ úΚôΠλ  

  1. 180° 

 2. 109°.28¢ 
 3. 120° 

 4. 104°.31¢ 
  

  



131. Assertion(A):  During heavy rains, earth warms come out from  
  soil for respiration. 
Reason(R):When it rains heavily, water fills up all the  
  spaces occupied by the air in the soil. 
Choose the correct answer  

  1. Both ‘A’ & ‘R’ correct and ‘R’ is the correct  
 explanation of ‘A’ 

 2. Both ‘A’ & ‘R’ correct but ‘R’ is not correct explanation 
of ‘A’ 

 3. ‘A’ incorrect , ‘R’ correct  
 4. ‘A’ correct, ‘R’ incorrect  
 ΚÚιÕ(A): Κ∴ΤûΨκ ùΣô→Ü ΜΤΥδΚ↓ο  
      Τη×ÝχΚρ ÑΞô′ιΘÛχΚôΚ é♥♠ο    
      ΒÚϕÕ ùΞ↓úΥ ΞÚ€τ[∴− 
 ΚôςΠλ(R): Κ∴ΤûΨκ ùΣô→↑τ úΣôÕ Τη∞ο      
    Κôσß ♣ςλ♦Υ Κô←Υô∴ ΣÏƒΚ↓ο      
    ΤûΨ¿ν ♣ςλ×€[Õ 

 1. ‘A’ Τσßλ ‘R’ ΒςηÓλ Μ↔ Τσßλ  ‘R’ΦτΣÕ 
‘A’♠τ Μ↔Υô∴ ↑ΖχΚλ 

 2.  ‘A’ Τσßλ ‘R’ ΒςηÓλ Μ↔ Α∴ôο ‘R’ΦτΣÕ 
‘A’ χÏ Μ↔Υô∴ ↑ΖχΚλ ≅οΩ 

 3. ‘A’ ΘΞß, ‘R’ Μ↔ 
 4. ‘A’ Μ↔, ‘R’ ΘΞß  

 
132. If the hydrogen ion concentration of a solution is 10-4moles/ lit, 

then the hydroxyl ion concentration would be  
 1. 10-4 moles/lit 

 2. 10-14 moles/lit 
 3. 10-10 moles/lit 

 4. 10-7 moles/lit 
 ΙÚ ΚûςΜ←ο ûγς⊥τ ≅Υ±♠τ ùΜ°Ü   

10-4 úΤôο/←γΟν Φ±ο ûγςôχ′ο ≅Υ±♠τ 
ùΜ°Ü 

 1. 10-4 úΤôο/←γΟν  
 2. 10-14 úΤôο/←γΟν 
 3. 10-10 úΤôο/←γΟν  
 4. 10-7 úΤôο/←γΟν 
 



133. The “Gait of Animals” book written by  
 1. Aristotle  

 2. William Harvey  
 3. Leeuwen hoek 
 4. Theophrastus  

 »»ùΚµγ Α?κ ≅±Τουµµ Φτ[ ×ιΘΚιûΘ 

ΦÝƒΥΞν 
 1. ≅↔υΟô⁄ο 

 2. ↑ο←Υλ ôνúΞ 

 3. ←ëΞôτ ôχ 

 4. ƒúΥô ♦ςôυΟυ 

 

 
134. The chemical used in black reaction in tracing the processes  
 and most delicate ramification of cells is  

 1. Ammonium Hydroxide  
 2. Sodium Carbonate  
 3. Copper Sulphate 
 4. Silver Nitrate  

♦Ζôχ ↔Υôχ_τ Øû[♠ο ùΜο ùΜΥοΣôÓΚρ 
Τσßλ ÖγΣΤô∴Ξσû[ ΚηΟ°Υ ΣΥτΣÓλ 
úΞƒκùΣôÚρ 

 1. ≅λúΤô±Υλ ûγςôχûΜÓ 

 2. úΜô⁄Υλ ΚôνΣú∴γ 

 3. ΚôκΣν ΜοúΣγ 

4. ′οΞν ûΡγúςγ 

 

 

 

 

 



135 Assertion(A): Excess intake of antibiotics can kill useful     
  microorganisms in our body 

 Reason(R): Anibiotics are made from Fungi and Bacteria 
Choose the correct answer   

 1. A is correct: R is incorrect  
 2. A is incorrect; R is correct  
 3. A and R both are correct; R is correct explanation of A 
 4. A and R both are correct; R is not correct explanation of 

A  
áσß(A): ≅ƒΚκΣ⁄ΥôΚ Φƒν ∆♠↔ ΤÚϕÕΚûΖ  

        ΦÓιΘχùΚôρΞΘôο+ ΡΤÕ ∆Ο←ÛρΖ  
        ΡτûΤ ùΜµÙλ ÖηÔ♠↔Κρ   
        ùΚôοΩκΣÓ€τ[∴−  

ΚôςΠλ(R): Φƒν ∆♠↔ ΤÚϕÕΚρ éφûΜΚρ    

          Τσßλ Σôχ≈↔Υô↑←ÚϕÕ ΘΥô↔χΚκ  
          ΣÓ€[Õ 
1. A Μ↔+  R ΘΞß 

2. A ΘΞß+ R Μ↔ 
 3. A Τσßλ R ΒςηÓλ Μ↔: R ΦτΣÕ A ↑σÏ 

Μ↔Υô∴ ↑ΖχΚλ 
 4. A Τσßλ R ΒςηÓλ Μ↔: R ΦτΣÕ A ↑σÏ 

Μ↔Υô∴ ↑ΖχΚλ ≅οΩ 
  



136. Identify the crops grown between October to March 
 1. Linseed & Maize  

 2. Soyabean & Maize 
 3. Maize & Mustard  
 4. Mustard & Linseed  

≅χúΟôΣν Τσßλ Τôνε ΤôΘδΚÞχ€ûΟúΥ 
Σ♠↔ΟκΣÓλ Σ♠νΞûΚΚûΖ ΚηΟ°ϕƒÓ 

 1. Α↓↑ûΘΚρ Τσßλ úΜôΖλ  

 2. úΜôΥôÀτυ Τσßλ úΜôΖλ 

 3. úΜôΖλ Τσßλ ΚÓÏ 

4. ΚÓÏ Τσßλ Α↓↑ûΘΚρ  

 

137. The food item that is rich in  vitamin ‘C’ is 
 1. Mirchi 

 2. Liver 
 3. Wheat  
 4. Paneer 

ûΞγΟ♥τ ‘C’ ≅ƒΚØρΖ ∆ΠÜκùΣôÚρ 

 1. ♥ΖΚôµ 

 2. ΚοÄςο 

 3. úΚôÕûΤ 

4. ΣÉν∋ΣôΩûΟχΚγ⁄( 

 

  



138. This occurs during exhalation 
 1. The ribs move forward and diaphragm contracts  

 2. The ribs move forward and diaphragm relaxes  
 3. The ribs move backward and diaphragm contracts  
 4. The ribs move backward and diaphragm relaxes 

ùΞ↓ÑΞôΜιƒτ úΣôÕ ΡûΟùΣßΞÕ 

 1. ↑Ωô ΦÛλ×Κρ Øτú∴ ΘρΖκΣÓ€[Õ− 

úΤÛλ ∆Θς↑Θô∴λ ÑÚδÏ€[Õ 

 2. ↑Ωô ΦÛλ×Κρ Øτú∴ ΘρΖκΣÓ€[Õ−  

  úΤÛλ ∆Θς↑Θô∴λ ↑↔ΞûΟ€[Õ 
 3. ↑Ωô ΦÛλ×Κρ ♦τ∴ôο ΘρΖκΣÓ€[Õ−  

  úΤÛλ ∆Θς↑Θô∴λ ÑÚδÏ€[Õ 

4. ↑Ωô ΦÛλ×Κρ ♦τ∴ôο ΘρΖκΣÓ€[Õ−  

  úΤÛλ ∆Θς↑Θô∴λ ↑↔ΞûΟ€[Õ   

 

139. The rate of heart beat in infants of 3-6 months age  
3`6 ΤôΘ ΞΥÕûΟΥ ÏΨϕûΘ♠τ ΒΘΥÕ⁄κ× ÅΘλ 

 1. 100-150 
 2. 90-120 
 3. 80-120 
 4. 60-100 

 

  



140. Find the correctly matched pairs 
 A) Flame cells - Annelida  
 B) Nephridia  - Platyhelminthes  
 C) Renette cells  - Nematoda 
 D) Meta nephridia   - Mollusca  

 1. A and B 
 2. C and D 
 3. A and C 
 4. B and D  

Μ↔ΥôΚ− ùΣôÚϕƒΥ ú⊥ô⁄ûΥ ΚηΟ°. 

 A) ÑΟν ùΜοΚρ           - ≅∴←Οô 
 B) ùΡ?κÃ⁄Υô            - ♦Ζô⁄ ùοùΤτƒυ 
 C) ùςτ∴γ ùΜοΚρ - ùΡΤúΟôΟô 
 D) ùΤΟô ùΡ?κÃ⁄Υô - ùΤôΩυΚô  

 1. A Τσßλ B 
 2. C Τσßλ D 
 3. A Τσßλ C 

 4. B Τσßλ D 

 
 

  



141. The parts of hind brain are  
 A) Diencephalon B) Medulla Oblongata  
 C) Cerebrum   D) Cerebellum  

 1. A and C 
 2. B and D 
 3. A and D 
 4. B and C 

♦τêûΖ♠τ ΣôΚδΚρ 

 A) ΒûΟêûΖ  B) ØÏΖλ 
 C) ùΣÚêûΖ  D) ′ßêûΖ 

 1. A Τσßλ C 
 2. B Τσßλ D 
 3. A Τσßλ D 
 4. B Τσßλ C 
 

142. Match the following  
 A) Prophase   -  i) Chromosomes moves to equator 
 B) Metaphase   -  ii) Duplication of chromosome 
 C) Anaphase   -  iii) Nuclear membrane disappears  
 D) Interphase  -  iv) Chromatics pulled towards poles  

 ùΣôÚιÕΚ− 
A) ØΘο♣ûΩ -  i) ÏúςôúΤôúΜôλΚρ  

                     ûΤΥκΣÏƒχÏ ΡΚÚ€[Õ 
 B) ΒûΟ♣ûΩ -  ii) ÏúςôúΤôúΜôλΚρ  
                      Βςγ⁄κΣûΟ€[Õ 
 C) ΜΩ∴♣ûΩ -  iii) ∆γΚÚ ΜπÜ Τû[€[Õ 
 D) Βßƒ♣ûΩ -  iv) ÏúςôúΤγ⁄χυ  
          ÕÚΞδΚûΖ úΡôχ€  
                     ΒÝχΚκΣÓ€τ[∴ 

 1. A) iii , B) i , C)iv , D) ii  
 2. A) i , B) ii , C) iii , D) iv  
 3. A) iii , B) iv , C) ii , D) i  

4. A) iv , B)ii , C) i , D) iii 
  



143. The gases that causes Greenhouse effect 
A) Sulphur dioxide  B) Water vapour 

 C)  Nitrous oxide  D) CNG 
 1. A and D 

 2. B and D 
 3. A and C 
 4. B and C  

ΣÑûΤ ΒοΩ ↑ûΖûΞ ΓσΣÓιÕλ ΞôÙχΚρ 

 A) ΜοΣν ûΟ ΑχûΜÓ B) ¿ςô↑ 
 C)  ûΡγςυ ΑχûΜÓ  D) CNG 
 1. A Τσßλ D 

 2. B Τσßλ D 
 3. A Τσßλ C 

 4. B Τσ[λ C 

 

144. Areas reserved for wild life where they freely use the habitats 
and natural resources are 

 1. National park 
 2. Biosphere reserve  
 3. Zoo 
 4. Wild life sanctuary  

Ξ∴ ↑ΩδÏΚρ+ ≅Ξσ°τ Ξô→ΟιƒσÏ Φπ↑Θ 
ΒûΟëßλ ΓσΣΟôΤο Τσßλ ΒΥσûΚ ΞΖδΚûΖ 
ΣΥτΣÓιΘ ΙÕχΚκΣγΟ ΣÏƒΚρ 

 1. úΘ′Υ éδΚô 

 2. ∆♠νúΚôΖ ΚôκΣΚλ 

 3. ♥ÚΚ Κôγ′ ΜôûΩ 

4. Ξ∴↑ΩδÏ ΜςΠôΩΥλ 

 

 

  



145. Incorrect statement regarding ‘nature of science’ among the  
 following is  

 1. It is a unique way of observing nature  
 2. It is a rapid expansion of knowledge hub 
 3. It believes in international comprehensive efforts   
 4. All proposed theories are permanent  

»»≅°↑Υο ΘτûΤµµ χÏ ùΘôΟνΣô∴ •θχΚηΟ 

áσßΚ↓ο ΘΞ[ô∴Õ 

 1. ΒÕ ΒΥσûΚûΥ Σ↔≠←χÏλ ′[κ× Øû[ 

 2. ΒÕ úΞΚΤôΚ ≅ƒΚ↔χÏλ ≅°Ü ûΤΥδΚρ 

 3. ΒÕ ΜνΞúΘΜ ΙÚδ€ûΠϕΘ ØΥσ′ΚûΖ 

Ρλ×€[Õ 
 4. Βƒο ØτùΤô→ϕΘ ùΚôρûΚΚρ 

♣ςϕΘςΤô∴ûΞ 

 

146. This is not considered while preparing year plan  
 1. Text book  

 2. Teaching Learning Material  
 3. Additional classes  
 4. Number of periods  

ΞÚΟôϕƒς ƒγΟιûΘ ΘΥô↔ιΘ←ο ΚÚιƒο ùΚôρΖ 
úΘûΞΥσ[ ≅λΜλ 

 1. ΣôΟκ×ιΘΚδΚρ 

 2. Κσ[ο Κσ♦ιΘο ΚÚ↑Κρ 

 3. áÓΘο ΞÏκ×Κρ 

4. ♦↔úΞûΖΚ↓τ Φη∞χûΚ 

 

  



147. Weightage allotted to the academic standard ‘questioning and 
making hypothesis’ is 

 »↑∴ÜΘο Τσßλ ΚÚÕúΚôρΚûΖ ∆ÚΞôχÏΘοµ  

 Κο↑ιΘςιƒσÏ ΙÕχΚκΣγΟ ΤƒκùΣη ΜΘÅΘλ 
 1. 10% 

 2. 15% 
 3. 40% 

 4. 25% 
 

148. The cognitive process involved in “ Presenting oral, written  
 information through diagrams” is   

 1. Creating  
 2. Analyzing  
 3. Applying  
 4. Understanding  

 »»ΞôµùΤô→+ ΦÝιÕ Ξ⁄Ξ ΘΚΞοΚûΖ ΣΟΞ⁄↑ο 

ùΘ↔↑ιΘοµµ ΦτΣƒο ≅Οδ€ÙρΖ ≅°ÜΜôν 

ùΜΥοØû[ 
 1. ΑχΚκéνΞΤô∴Õ 

 2. ΣÏιΘôµΘο 

 3. ΣΥτΣÓιÕΘο 

4. ×↔ϕÕχùΚôρÞΘο  

 

  



149. A test is giving same results, when it is conducted for several  
 times or corrected by different people. But is not fulfilling the  
 purpose for which it was designed. Then the test  

 1. has reliability, validity but not objectivity   
 2. has reliability, objectivity but not validity 
 3. has validity and objectivity but not reliability 
 4. does not have reliability, validity and objectivity  

 ΙÚ úΜôΘû∴ι úΘνÜ ΣΩØû[ ΡΟιÕλ úΣôÕλ+ 
ùΞπúΞß ΡΣνΚΖôο ΤƒκÀÓ ùΜµÙλ úΣôÕλ Ιúς 
Τôƒ↔Υô∴ Ø⁄ÜΚûΖ ΘÚ€[Õ− Α∴ôο 
≅ΘτΞô♠ΩôΚ ≅ϕΘ úΜôΘû∴χΚô∴ Ï°χúΚôρ 
♣û[ΞûΟΥ↑οûΩ Φ±ο ≅ϕΘ úΜôΘû∴ 

 1. ΡλΣΚιΘτûΤ+ Γσ×ûΟûΤ ùΣσßρΖÕ− 
Α∴ôο ×[ΞΥιΘτûΤ ΒοûΩ 

 2. ΡλΣΚιΘτûΤ+ ×[ΞΥιΘτûΤ ùΣσßρΖÕ− 
Α∴ôο Γσ×ûΟûΤ ΒοûΩ   

 3. Γσ×ûΟûΤ+ ×[ΞΥιΘτûΤ ùΣσßρΖÕ−   
  Α∴ôο ΡλΣΚιΘτûΤ ΒοûΩ    

4. ΡλΣΚιΘτûΤ+ Γσ×ûΟûΤ Τσßλ  
  ×[ΞΥιΘτûΤ ΦÕÜλ ΒοûΩ .   

 

150. ‘Micro Teaching is a scaled-down teaching encounter in class  
 size and time’ this was stated by  

 1. David B. Young 
 2. D.W. Allen 
 3. B.K. Passi 
 4. M.S. Lalitha 

»ΞÏκ× Σ↔ΤôΠιƒο+ ΞÏκ× úΡςιƒο 

Ïû[χΚκΣγΟ Κσ♦ιΘúΩ Öη∞ûΩ 
Κσ♦ιΘοµ Φ∴ ùΘ↔↑ιΘΞν 

 1. úΟ↑γ− B. Υδ 

 2. D.W. ≅οùΩτ 

 3. B.K.Σôυ′ 

4. M.S. Ω←Θô  

 


